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B.A. 3rd Semester (Honours) Examination, 2023 (CBCS)
Subject : Philosophy

Course : CC-VI

(Western Ethics)
Time: 3 Hours Full Marks: 60

The figures in the right side margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions: 2x10=20
@ @I 75 2o Ted We ¢
(a) Distinguish between moral and non-moral action.
s o @ q-Ales ICR g A
(b) How does Frankena define moral philosophy?
FCEAl Vel Afevtra e e ¢
(c) What is applied ethics?
Tlere Ao e
(d) What is hedonic calculas?
4 2
(e) What does the word ‘moral’ mean in its wide and narrow senses?

e > e ¢ W@ g F e

(f) What is meant by a ‘moral judgement’?
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(g) What are the main points of distinction between utilitarianism of Bentham and that of Mill?
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(h) What are the external sanctions of morality advocated by Bentham?
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(i) What is gender equality?
forst-oTrel Fece @
() What are the different stages of voluntary action?
afes e Rien waef & e
(k) What is the difference between hedonistic and non-hedonistic versions of utilitarianism?
AN GRS SoEFeRTE g oy e
(I) What is meant by ‘freedom of will’?
TR FETS @ N @RI ?
(m) What is the difference between Sex and Gender?
Ol @ (Trlad Ny oMy e
(n) What is the main contention of consequentialism (teleologism)?
AT (SERR)-97 el e Fe

(0) Name any two theories of punishment.
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2. Answer any four questions: 5x4=20
@ @I 597 2re Teg ws ¢

(a) Distinguish between teleology and deontology.
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(b) Explain the reformative theory of punishment.
IS A0 Aerelimre e i |

(c) Consider freedom of will as a postulate of morality.
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(d) Distinguish between act-deontology and rule-deontology.
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(¢) Explain the arguments against euthanasia.
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(f) Consider Singer’s view that the affluent people are morally obligated to help the poor.
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3. Answer any two questions: 10x2=20
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(a) Distinguish between motive and intention. Which of them is the object of moral judgement?

—Discuss.
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(b) How is utilitarianism related to hedonism? Distinguish between act-utilitarianism and

rule-utilitarianism.
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(c) What does Kant mean by ‘Categorical Imperative’? Explain critically, following Frankena,
the first form of Categorical Imperative as formulated by Kant.
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(d) Explain the stages of development of morality.
ferer R waeler Tt Fe |



